Balance Movement

sedeiport

www.sedexport.com



INDUSTRIAL 2023

1-T19-50MM FURC(EKO) SERIAL

2-T20-50MM DOUBLE BALL

3-T20-75MM DOUBLE BALL




T19 SERIAL 50mm

koD | DESRPTION | © Ol 6001 & |57

T19 02 NBG 050 50mm FURC PLATE Black-Grey 50 69 38x38 15 200
T19 01NBG 050 50mm FURCG SCREW Black-Grey 50 69 3/8 15 200
T19 06 NBG 050 50mm FURC U PLATE Black-Grey 50 69 22x68 15 150

oo | oesawnon | © | 01

T1902 PBG 050 50mm FURC PLATE White-Grey 50 69 38x38 15 200
T1901PB6 050  50mm FURG SCREW White-Grey 50 69 3/8 15 200
T19 06 PBG 050 50mm FURC U PLATE White-Grey 50 69 22x68 15 150

N T K G N2

T19 02 NBN 050  50mm FURC PLATE Black 69 38x38 15 200
TI901NBN 050  50mm FURC SCREW Black 50 69 3/8 15 200
T19 06 NBN 050  50mm FURC U PLATE Black 50 69 22x68 15 150




T19 SERIAL 50mm

DESCRIPTION
T1902 CBZ050  50mm FURG PLATE Transparent 50 69 38x38 15 200
T1901CBZ 050  50mm FURG SCREW Transparent 50 69 3/8 15 200
T1906 CBZ050  50mm FURG U PLATE Transparent 50 69 22x68 15 150

DESCRIPTION
T1902PBLO50  50mm FURC PLATE Red 50 69 38x38 15 200
TI901PBLO50  50mm FURC SCREW Red 50 69 3/8 15 200
T1906 PBLO50  50mm FURG U PLATE Red 50 69 22x68 15 150

g

DESCRIPTION
T1902PBP 050  50mm FURC PLATE White 50 69 38x38 15 200
T1901PBP 050  50mm FURG SCREW White 50 69 3/8 15 200

T1906 PBP 050  50mm FURG U PLATE White 50 69 22x68 15 150




T20 SERIAL 50mm

-E---

T2001NGB 050  50mm SCREW Black-Grey M10 25 150

T20 01 PBL 050 50mm SREW White-Red 50 70 M0 25 150
T20 02 NGB 050 50mm PLATE Black-Grey 50 70 50x50 25 125
T20 02 PBL 050 50mm PLATE White-Red 50 70 50x50 25 125

-E---IZIH

T20 01 NGB 050 F1 50mm SCREW Black-Grey Brakes 50 70 MI10 150
T20 01 PBL 050 F1 50mm SCREW White-Red Brakes 50 70 M0 25 150
T20 02 NBG 050 F1 ~ 50mm PLATE Black-Grey Brakes 50 70 50x50 25 125
T20 02 PBL 050 F1 50mm PLATE White-Red Brakes 50 70 50x50 25 125




T20 SERIAL 50mm

DESCRIPTION
T20 00 NGB 050  50mm CENTER HOLE Black-Grey 50 70 MI0 25 150

T20 00 PBL 050 50mm CENTER HOLE White-Red 50 70 MI0 25 150
T2006 NGB 050  50mm U PLATE Black-Grey 50 70 22x68 25 125
T20 06 PBL 050 50mm U PLATE White-Red B0 70 22x68 25 125

DESCRIPTION
T20 00 NGB 050 F1 50mm CENTER HOLE Black-Grey Brakes 50 70 M10 25 150

T20 00 PBL 050 F1  50mm CENTER HOLE White-Red Brakes 50 70 M10 25 150
T20 06 NBG 050 F1 50mm U PLATE Black-Grey Brakes 50 70 22x68 25 125
T20 06 PBL 050 F1  50mm U PLATE White-Red Brakes 50 70 22x68 25 125




T20 SERIAL 50mm

-E---

T20 01 CBZ 050 50mm SCREW Transparent

T2001PB6 050  50mm SREW White-Grey 50 70
T2002 CBZ050  50mm PLATE Transparent 50 70 50x50 25 125
T2002PB6 050  50mm PLATE White-Grey 50 70 50x50 25 125

-E---IZIH

T20 01 CBZ 050 F1 50mm SCREW Transparent Brakes 50 70 MI10 150
T20 01 PBG 050 F1 50mm SCREW White-Grey Brakes 50 70 M0 25 150
T20 02 CBZ 050 F1 50mm PLATE Transparent Brakes 50 70 50x60 25 125
T20 02 PBG 050 F1 50mm PLATE White-Grey Brakes 50 70 50x50 25 125




T20 SERIAL 50mm

DESCRIPTION
T20 00 CBZ 050 50mm CENTER HOLE Transparent 50 70 MI0 25 150

T20 00 PBG 050 50mm CENTER HOLE White-Grey 50 70 MI0 25 150
T20 06 CBZ 050 50mm U PLATE Transparent 50 70 22x68 25 125
T20 06 PBG 050 50mm U PLATE White-Grey 50 70 22x68 25 125

DESCRIPTION
T20 00 CBZ 050 F1 50mm CENTER HOLE Transparent Brakes 50 70 MI0 25 150

T20 00 PBG 050 F1 50mm CENTER HOLE White-Grey Brakes 50 70 M10 25 150
T20 06 CBZ 050 F1 50mm U PLATE Transparent Brakes 50 70 22x68 25 125
T20 06 PBG 050 F1 50mm U PLATE White-Grey Brakes 50 70 22x68 25 125




T20 SERIAL 50mm

-E---

T20 01 PBP 050 50mm SCREW White M10 25 150

T20 01NBN 050  50mm SREW Black 50 70 M0 25 150
T20 02 PBP 050 50mm PLATE White 50 70 50x50 25 125
T2002 NBN 050  50mm PLATE Black 50 70 50x50 25 125

-E---IZIH

T20 01 PBP 050 F1 50mm SCREW White Brakes 70 MI10 150
T20 01 NBN 050 F1 50mm SCREW Black Brakes 50 70 M10 25 150
T20 02 PBP 050 F1 50mm PLATE White Brakes 50 70 50x50 25 125
T2002 NBN 050 F1 ~ 50mm PLATE Black Brakes 50 70 50x50 25 125




T20 SERIAL 50mm

DESCRIPTION
T20 00 CBZ 050 5Omm CENTER HOLE White 50 70 M0 25 150
T20 00 PBG 050  50mm CENTER HOLE Black 50 70 M0 25 150
T20 06 CBZ 050 50mm U PLATE White 50 70 22x68 25 125
T20 06 PBG 050  50mm U PLATE Black 50 70 22x68 25 125

DESCRIPTION
T20 00 PBP 050 F1 50mm CENTER HOLE White Brakes 50 70 MI0 25 150
T20 00 NBN 050 F1 ~ 50mm CENTER HOLE Black Brakes 50 70 M0 25 150
T20 06 PBP 050 F1 50mm U PLATE White Brakes 50 70 22x68 25 125

T20 06 NBNO50 F1 ~ 50mm U PLATE Black Brakes 50 70 22x68 25 125




T20 SERIAL 50mm

DESCRIPTION
T20 04 PBG 050 50mm FIXED PLATE White-Grey 50 67 28x68 25 150

T20 04 NB6 050  50mm FIXED PLATE Black-Grey 50 67 28x68 25 150
T20 04NBN 050  50mm FIXED PLATE Black 50 67 28x68 25 150

DESCRIPTION
T2004 CBZ050 50mm FIXED PLATE Transparent 50 67 28x68 25 150
T20 04 PBL 050  50mm FIXED PLATE White-Red 50 67 28x68 25 150
T2004 PBP 050  50mm FIXED PLATE White 50 67 28x68 25 150



T20 SERIAL 75mm

DESCRIPTION
T2001NGB 075  75mm SCREW Black-Grey 75 98 MIO 30 70
T20 01 PBL 075 75mm SREW White-Red 75 98 MO 30 70
T20 02 NGB 075  75mm PLATE Black-Grey 75 98 63x63 30 50
T20 02 PBL 075 75mm PLATE White-Red 75 98 63x63 30 50

DESCRIPTION
T20 01 NGB 075 F1 75mm SCREW Black-Grey Brakes 75 98 MI10 30 70

T20 01 PBL 075 F1 75mm SCREW White-Red Brakes 75 98 MI1I0 30 70
T20 02 NBG 075 F1 75mm PLATE Black-Grey Brakes 75 98 63x63 30 50
T20 02 PBL 075 F1 75mm PLATE White-Red Brakes 75 98 63x63 30 50




T20 SERIAL 75mm

-E_--

T20 01 CBZ 075 75mm SCREW Tranparent

T20 01 PBG 075 75mm SREW White-Grey 75 98
T2002 CBZ075  75mm PLATE Tranparent 75 98 63x63 30 50
T2002PBG 075  75mm PLATE White-Grey 75 98 63x63 30 50

-m--ﬂﬂ

T20 01 CBZ 075 F1 75mm SCREW Tranparent Brakes 75 98 MI0

T20 01 PBG 075 F1 75mm SCREW White-Grey Brakes 75 98 MI10 30 70
T20 02 CBZ 075 F1 75mm PLATE Tranparent Brakes 75 98 63x63 30 50
T2002PBG 075 F1  75mm PLATE White-Grey Brakes 75 98 63x63 30 50




T20 SERIAL 75mm

DESCRIPTION
T20 00 NGB 075 75mm CENTER HOLE Black-Grey 75 98 M1I0 30 70
T20 00 PBL 075 75mm CENTER HOLE White-Red 75 98 MI1I0 30 70
T20 06 NGB 075 75mm U PLATE Black-Grey 75 98 22x68 30 50
T20 06 PBL 075 75mm U PLATE White-Red 75 98 22x68 30 50

DESCRIPTION
T20 00 NGB 075 F1  75mm CENTER HOLE Black-Grey Brakes 75 98 MI10 30 70

T20 00 PBLO75 F1  75mm CENTER HOLE White-Red Brakes 75 98 MI10 30 70
T20 06 NBG 075 F1  75mm U PLATE Black-Grey Brakes 75 98 22x68 30 50
T20 06 PBLO75 F1  75mm U PLATE White-Red Brakes 75 98 22x68 30 50




T20 SERIAL 75mm

bl

-E_--

T2000CBZ 075  75mm CENTER HOLE Tranparent 75

T2000PB6 075  75mm CENTER HOLE White-Grey 75 98
T20 06 CBZ075  75mm U PLATE Tranparent 75 98 22x68 30 50
T2006 PB6 075  75mm U PLATE White-Grey 75 98 22x68 30 50

-E_--

T20 00 CBZ 075 F1 75mm CENTER HOLE Tranparent Brakes 75 M10 30 70
T20 00 PBG 075 F1 75mm CENTER HOLE White-Grey Brakes 75 98 M10 30 70
T20 06 CBZ 075 F1 75mm U PLATE Tranparent Brakes 75 98 22x68 30 50
T20 06 PBG 075 F1  75mm U PLATE White-Grey Brakes 75 98 22x68 30 50




T20 SERIAL 75mm

DESCRIPTION
T20 01 NGB 075 75mm SCREW Black-Grey 75 98 MI1I0 30 70
T20 01 PBL 075 75mm SREW White-Red 75 98 M0 30 70
T20 02 NGB 075  75mm PLATE Black-Grey 75 98 63x63 30 50
T20 02 PBL 075 75mm PLATE White-Red 75 98 63x63 30 50

DESCRIPTION
T20 01 NGB 075 F1 75mm SCREW Black-Grey Brakes 75 98 MI10 30 70

T20 01 PBL 075 F1 75mm SCREW White-Red Brakes 75 98 MI10 30 70
T20 02 NBG 075 F1 75mm PLATE Black-Grey Brakes 75 98 63x63 30 50
T20 02 PBL 075 F1 75mm PLATE White-Red Brakes 75 98 63x63 30 50




T20 SERIAL 75mm

8 ¢i.
S

-E_-- 51 & |
T20 00 PBP 075  75mm CENTER HOLE White M0 30 70
T20 00 NBN 075  75mm CENTER HOLE Black 75 98 MO 30 70
T2006 PBP 075  75mm U PLATE White 75 98 22x68 30 50
T20 06 NBN 075  75mm U PLATE Black 75 98 22x68 30 50

-m---

T20 00 PBP 075 F1  75mm CENTER HOLE White Brakes 75

T20 00 NBN 075 F1 75mm CENTER HOLE Black Brakes 75 98 M0 30 70
T20 06 PBP 075 F1  75mm U PLATE White Brakes 75 98 22x68 30 50
T20 06 NBN 075 F1 75mm U PLATE Black Brakes 75 98 22x68 30 50




T20 SERIAL 75mm

LR

DESCRIPTION
T20 04 PBG 075 50mm FIXED PLATE White-Grey 75 95 36x85 30 80
T20 04 NB6 050  50mm FIXED PLATE Black-Grey 75 95 36x85 30 80
T20 04NBN 050  50mm FIXED PLATE Black 75 95 36x85 30 80

DESCRIPTION
T2004 CBZ 050 50mm FIXED PLATE Transparent 75 95 36x85 30 150
T20 04 PBL0O50  50mm FIXED PLATE White-Red 75 95 36x85 30 150
T2004 PBP 050  50mm FIXED PLATE White 75 95 36x85 30 150




INDUSTRIAL 2023

T21-25-28 SERIAL

1-T21-DOUBLE CASTERS

2-T28-MEDICAL CASTERS

3-T25-MARKET CASTERS




T21 SERIAL 50mm

DESCRIPTION

T21 02 MBT 050 50mm PLATE Black-Grey 50
T21 02 MBT 050 F2 50mm PLATE Black-Grey Brakes 50
T21 01 MBT 050 50mm SREW Black-Grey 50
T21 01 MBT 050 F2 50mm SREW Black-Grey Brakes 50

DESCRIPTION
T21 02 MBM 050 50mm PLATE Black 50 76 65x65 50 50
T21 02 MBM 050 F2 50mm PLATE Black Brakes 50 76 65x65 50 50
T21 01 MBM 050 50mm SREW Black 50 76 MI1I0 50 50
T21 01 MBM 050 F2 50mm SREW Black Brakes 50 76 MI1I0 50 50

DESCRIPTION
00 MBT 050 50mm CENTER HOLE Black-Grey
T21 00 MBT 050 F2 ~ 50mm CENTER HOLE Black-Grey Brakes 50 76 M10 50 50
T21 00 MBM 050 50mm CENTER HOLE Black 50 76 M10 50 50
T21 00 MBM 050 F2  50mm CENTER HOLE Black Brakes 50 76 MI10 50 50




Diameter:100mm T28 SERIAL / MEDICAL CASTERS

L.

--I]H

T28 02 MBT 100 100mm PLATE Medical Caster 100 135 69x79 80
T28 02 MBT 100 F2  100mm PLATE Medical Caster 100 135 69x79 80 30
T28 01 MBT 100 100mm M12 SREW Medical Caster 100 135 MI12 80 40

T28 01 MBT 100 F2 ~ 100mm M12 SREW Medical Caster 100 135 M12 80 30

AR )

3 &[5
40

T28 03 MBT 100 100mm 22 PIN Medical Caster 100 135 22 80

T28 03 MBT 100 F2  100mm 22 PIN Medical Caster 100 135 22 80 30
T28 00 MBT 100 100mm CENTER HOLE Medical Caster 100 135 MI125 80 40
T28 00 MBT 100 F2 100mm CENTER HOLE Medical Caster 100 135 MI125 80 30

T28 04 MBT 100 100mm FIXED PLATE Medical Caster 100 135 69x79 80 25




Diameter:125mm T28 SERIAL / MEDICAL CASTERS

5060

--BH

T28 02 MBT 125 125mm PLATE Medical Caster 125 163 69x79 100
T28 02 MBT 125 F2  125mm PLATE Medical Caster 125 163 69x79 100 30
T28 01 MBT 125 125mm M12 SREW Medical Caster 125 163 MI12 100 40

T28 01 MBT 125 F2  125mm M12 SREW Medical Caster 125 163 MI12 100 30

P50 S

H=
40

T28 03 MBT 125 125mm 22 PIN Medical Caster 125 163 22 80

T28 03 MBT 125 F2  125mm 22 PIN Medical Caster 125 163 22 80 30
T28 00 MBT 125 125mm CENTER HOLE Medical Caster 125 163 M125 80 40
T28 00 MBT 125 F2 125mm CENTER HOLE Medical Caster 125 163 M125 80 30

oo | oesownov Q61355 & =)

T28 04 MBT 125 125mm FIXED PLATE Medical Caster 125 163 69x79 80 25




INDUSTRIAL 2023

T30 SERIAL LIGHT DUTY

1-T30-RUBBER OVER STEEL PLATE

2-T30-POLYPROPYLENE

3-T30-POLYURETHANE OVER POLYAMIDE




T25 SERIAL / MARKET CASTERS

® & ©

kb | DESRIPTION QG50 & =

T2500 MBT 100  100mm CENTER HOLE Market Caster 100 126 10/12 100 50
T2501 MBT 100  100mm M12 SREW Market Caster 100 126 MI12 100 50
T2503 MBT 100  100mm 22 PIN Market Caster 100 126 22 100 50

® 5 ©

kb DESRTION QO &

T25 00 MBT 125 125mm CENTER HOLE Market Caster 125 126 10/12 100 50
T25 01 MBT 125 125mm M12 SREW Market Caster 125 126 MI12 100 50
T25 03 MBT 125 125mm 22 PIN Market Caster 125 126 22 100 50




POLYPROPYLENE T30 SERIAL / LIGHT DUTY CASTERS

-E-I]H

T30 02 MBM 080 80 104 85x103

T30 02 MBM 100 100 128 85x103 70 30
T3002 MBM 125 125 155 85x103 100 25
T3002 MBM 150 150 181 85x103 120 16

T30 02 MBM 080 F2 80 104 85x103

T30 02 MBM 100 F2 100 128 85x103 70 30
T3002 MBM 125 F2 125 155 85x103 100 25
T30 02 MBM 150 F2 150 181 85x103 120 16

-E_I]H

T30 04 MBM 080 80 104 85x103

T3004 MBM 100 100 128 85x103 70 30
T3004 MBM 125 125 155 85x103 100 25
T3004 MBM 150 150 181 85x103 120 16




OLYURETHANE OVER POLYAMIDE T30 SERIAL / LIGHT DUTY CASTERS

_7@._

-E-I]H

T3002PBUO8BO 80 104 85x103

T3002PBU 100 100 128 85x103 70 30
T3002PBU 125 125 155 85x103 100 25
T3002PBU 150 150 181 85x103 120 16

KOD ®@le] & | &lFD)

T3002 PBUOBOF2 80 104 85x103 50 50
T3002 PBU 100 F2 100 128 85x103 70 30
T3002PBU 125F2 125 155 85x103 100 25
T3002PBU150F2 150 181 85x103 120 16

oo Qa5 &)

T3004PBUO8BO 80 104 85x103 50 50
T3004 PBU 100 100 128 85x103 70 30
T3004PBU 125 125 155 85x103 100 25
T3004PBU150 150 181 85x103 120 16




RUBBER OVER STEEL PLATE T30 SERIAL / LIGHT DUTY CASTERS

s
Pt
L o 0

T3002 SBR080 80 104 85x103

T3002 SBR100 100 128 85x103 70 30
T3002 SBR125 125 155 85x103 100 25
T3002 SBR150 150 181 85x103 120 16

T30 02 SBR0O80 F2 80 104 85x103

T30 02 SBR 100 F2 100 128 85x103 70 30
T3002 SBR 125 F2 125 155 85x103 100 25
T3002 SBR150 F2 150 181 85x103 120 16

oo QO]

&5
T3004 SBR080 80 104 85x103 50 50

T3004 SBR100 100 128 85x103 70 30
T3004 SBR125 125 155 85x103 100 25
T3004 SBR150 150 181 85x103 120 16




INDUSTRIAL 2023

T40 SERIAL HEAVY DUTY

1-T40-55MM CASTERS
2-T40-POLYPROPYLENE
3-T40-POLYURETHANE OVER POLYAMIDE

4-T40-CAST IRON

5-T40-POLYURETHANE OVER CAST IRON




POLYPROPYLENE T40 SERIAL / HEAVYDUTY CASTERS

T40 02 MBM 080 80 113 90x114 150

T40 02 MBM 100 100 140 110x140 200 20
T40 02 MBM 125 125 175 110x140 280 16
T40 02 MBM 150 150 210 110x140 350 10

T40 02 MBM 080 F3 80 113 90x114 150

T40 02 MBM 100 F3 100 140 110x140 200 20
T40 02 MBM 125 F3 125 175 110x140 280 16
T40 02 MBM 150 F3 150 210 110x140 350 10

T40 04 MBM 080 80 113 90x114 150

T40 04 MBM 100 100 140 110x140 200 20
T40 04 MBM 125 125 175 110x140 280 16
T4004 MBM 150 150 210 110x140 350 10




DIAMETER:55mm

oo 000 O &=

T40 02 MBM 055 55 84 66x87 100 50
T40 04 MBM 055 55 84 66x87 100 50
T4002 MBM 055 F1 55 84 66x87 100 50

oo Olol O &=

T40 02 PBU 055 55 84 66x87 100 50
T40 04 PBU 055 55 84 66x87 100 50
T40 02 PBU 055 F1 55 84 66x87 100 50

oo OO0 O &=

T40 02 DBD 055 55 84 66x87 100 50
T40 04 DBD 055 55 84 66x87 100 50
T40 02 DBD 055 F1 55 84 66x87 100 50

oo 0ol O &=

T40 02 DRU 055 55 84 66x87 100 50
T40 04 DRU 055 55 84 66x87 100 50
T40 02 DRU 055 F1 55 84 66x87 100 50

T40 SERIAL / HEAVY DUTY CASTER




POLYURETHANE OVER POLYAMIDE

T40 02 PBU 080 80 113 90x114 150
T40 02 PBU 100 100 140 110x140 200
T4002 PBU 125 125 175 110x140 280
T4002PBU 150 150 210 110x140 350

20
16
10

T40 04 PBU 080 80 113 90x114 150
T40 04 PBU 100 100 140 110x140 200
T4004 PBU 125 125 175 110x140 280
T4004PBU 150 150 210 110x140 350

ﬂ-

20
16
10

T40 SERIAL / HEAVYDUTY CASTERS

T40 02 PBU 080 F3 80 113 90x114 150
T40 02 PBU 100 F3 100 140 110x140 200
T40 02 PBU 125 F3 125 175 110x140 280
T40 02 PBU 150 F3 150 210 110x140 350

20
16
10




POLYURETHANE OVER CAST IRON

-E-I]H

T40 02 DRU 080
T40 02 DRU 100
T40 02 DRU 125
T40 02 DRU 150

80 113 90x114 200
100 140 110x140 350
125 175 110x140 450
150 210 110x140 600

20
16
10

-E-BH

T40 04 DRU 080
T40 04 DRU 100
T40 04 DRU 125
T40 04 DRU 150

80 113 90x114 200
100 140 110x140 350
125 175 110x140 450
150 210 110x140 600

20
16
10

T40 SERIAL / HEAVYDUTY CASTERS

koo Q0 & | &=

T40 02 DRU 080 F3
T40 02 DRU 100 F3
T40 02 DRU 125 F3
T40 02 DRU 150 F3

80 113 9ox114 200
100 140 110x140 350
125 175 110x140 450
150 210 110x140 600

25
20
16
10




CAST IRON T40 SERIAL / HEAVYDUTY CASTERS

T40 02 BDB 080 80 113 90x114 200

T40 02 DBD 100 100 140 110x140 350 20
T4002 DBD 125 125 175 110x140 450 16
T40 02 DBD 150 150 210 110x140 600 10

T40 02 DBD 080 F3 80 113 90x114 200

T40 02 DBD 100 F3 100 140 110x140 350 20
T4002 DBD 125 F3 125 175 110x140 450 16
T4002 DBD 150 F3 150 210 110x140 600 10

T40 04 DBD 080 80 113 90x114 200

T40 04 DBD 100 100 140 110x140 350 20
T4004 DBD 125 125 175 110x140 450 16
T4004DBD 150 150 210 110x140 600 10




INDUSTRIAL 2023

PALLET JACK CASTERS

1-70-85MM PALLET JACK CASTERS

2-160-200MM PALLET JACK CASTERS




ENRIGIHEE RG] RIS

PP7060 70 60 500 50 PP8260 82 60 500 50 PP8270 82 70 500 50
PRP7060 70 60 500 50 PRP 8260 82 60 500 50 PRP 8270 82 70 500 50
ko> | © &) &~ I koo | O & &I
PP8270B 82 70 500 50 PP8570 85 70 500 50
PRP8270B 82 70 500 50 PRP8570 85 70 500 50

ENRIGIHE RIS RIS i=q]
PP16050 160 50 750 20 PP18050 180 50 750 20 PP20050 200 50 750 20
PRP 16050 160 50 750 20 PRP 18050 180 50 750 20 PRP 20050 200 50 750 20




INDUSTRIAL 2023

MACHINE EQUIPMENTS

1-STELL ARTICULATED LEGS
2-PLASTIC ARTICULATED LEGS
3-MACHINE HANDLES

4-ORANGE AND CHROME MACHINE LEGS

5-BAKELITE MACHINE PARTS

6-SWITCHBLADE ARMS




_1 —
Jm

TOO DMO50 08 050
TOO DMO50 08 100
TOO DMO50 10 050
TOO DM050 10 100
TOO DMO50 12 050
TOO DMO50 12 100

TOO DMO60 10 050
TOO DMO60 10 100
TOO DMO60 12 050
TOO DMO60 12 100
TOO DMO60 16 060
TOO DM060 16 110
TOO DMO60 16 150
TOO DMO60 16 200

50
50
50
50
50

60
60
60
60
60
60
60

M8

M10
M10
M12
M12

M10
M12
M12
M16
M16
M16
M16

100
50
100
50
100

100
50

100
60

110
150
200

50
50
50
50
50

50
50
50
50
50
50
50

50MM STEEL ARTICULATED LEGS




" - -—r
éj

TOO DMO80 10 050
TOO DMO80 10 100
TOO DM080 12 050
TOO DM080 12 100
TOO DMO080 16 060
TOO DMO080 16 110
TOO DMO080 16 150
TOO DMO80 16 200

TOO DMO60 10 050
TOO DMO60 10 100
TOO DMO60 12 050
TOO DMO60 12 100
TOO DMO60 16 060
TOO DMO60 16 110
TOO DMO60 16 150
TOO DMO60 16 200

80
80
80
80
80
80
80

110
110
110
110
110
110
110

M10
M12
M12
M16
M16
M16
M16

M10
M12
M12
M16
M16
M16
M16

100
50

100
50

100
150
200

100
50

100
60

110
150
200

50
50
50
50
50
50
50

50
50
50
50
50
50
50

80MM STEEL ARTICULATED LEGS

110MM STEEL ARTICULATED LEGS




_1 —
4!7

TOO PM060 10 050
TOO PM060 10 100
TOO PMO60 12 050
TOO PM0O60 12 100
TOO PMO60 16 060
TOO PM0O60 16 110
TOO PM060 16 150
TOO PM0O60 16 200

TOO DMO80 10 050
TOO DM080 10 100
TOO DMO80 12 050
TOO DMO80 12 100
TOO DMO80 16 060
TOO DM08O0 16 110
TOO DM08O0 16 150
TOO DM080 16 200

60
60
60
60
60
60
60

80
80
80
80
80
80
80

M10
M12
M12
M16
M16
M16
M16

M10
M12
M12
M16
M16
M16
M16

100
50

100
60

110
150
200

100
50

100
60

110
150
200

50
50
50
50
50
50
50

50
50
50
50
50
50
50

60MM PLASTIC ARTICULATED LEGS

80MM PLASTIC ARTICULATED LEGS




" — -—r
éj

TOO DM110 10 050
TOO DM110 10 100
TOO DM110 12 050
TOO DM110 12 100
TOO DM110 16 060
TOO DM110 16 110
TOO DMI110 16 150
TOO DM110 16 200

T00 55120 16 100
TOO 55120 16 150
T00 55120 20 100
T00 55120 20 150
TOO S5120 24 150

110
110
110
110
110
110
110

120
120
120
120

M10
M12
M12
M16
M16
M16
M16

M16
M20
M20
M24

100
50

100
60

110
150
200

150
100
150
150

50
50
50
50
50
50
50

110MM PLASTIC ARTICULATED LEGS

b

-lr-:mﬁur.anm-w
L T ill’“lllhﬂ'hl
r ____._,_-...,'r,...umvm.-.'d

i

FIXED STEEL LEGS




RUBBER BLOCK

| KOD____|Lenght) Width  Height| =1
TT 120080 20 120 80 20 80

TT 120080 40 120 80 40 80
TT 120080 60 120 80 60 80



HANDLES

I T S P

TTA 01200
TTA 01 300
TTA 01 400
TTA 01500
TTA 00

Aliiminyum Tutamak 20cm
Aliminyum Tutamak 30cm
Aliminyum Tutamak 40cm
Aliiminyum Tutamak 50cm

Aliiminyum Tutamak Yedegi

20 300
20 400
20 500
20

50
50
50
100

I T N e

TTP 01 122
TTP 01 122T
TTP 02 138
TTP 02 138T

TTB 01 109 06
TTB 0113108
TTB 0113110

Plastik Tutamak Kiigiik
Plastik Tutamak Kiiglik Turuncu
Plastik Tutamak Biiyiik
Plastik Tutamak Biyiik Turuncu

Kiigiik Bakalit Kulp M6
Biiyiik Bakalit Kulp M8
Biiyiik Bakalit Kulp M10

M8 122
M8 138
M8 138

Mé
M8 131
M10 131

100
100
100

I L N e

100
100

oo oesowTon | © | — | =)

PK45 10/08
PK55 10/08
PK70 10/08

45 Krom Pingo M10/08
55 Krom Pingo M10/08
75 Krom Pingo M10/08

45 M8/M10
55 M8/M10
75 M8/MI10

400
300
200

TM 01 4040P

40X40mm Plastik Mentese

40x40mm




ORANGE MACHINE LEGS

é—v

TOO DTO80 12 120 80 MI12 TOO DT100 12 120 100

TOO DTO80 16 150 80 M16 150 50 TOODTI0016150 100 M16 150 50
TOO DT120 12 120 120 M12 120 50 TOODT16016150 160 M16 150 50
TOO DT120 16 100 120 M16 100 50 TOODT16020170 160 M20 170 50
TOO DT200 20 170 200 M20 170 50 TOO DT20024 170 200 M24 170 50

CHROME MACHINE LEGS

Jn é‘r

TOO DKO60 10 050 TOO DK100 12 090

TOO DKO060 12 070 60 12 70 50 TOO DK10016 100 100 16 100 50
TOO DK060 12 090 60 12 9 50 TOO DK100 16 150 100 16 150 50
TOO DKO60 16 100 60 16 100 50 TOO DK100 20100 100 20 100 50
TOO DKO80 12 090 80 12 90 50 TOO DK10020150 100 20 150 50
TOO DK080 16 100 80 16 100 50 TOO DK12012090 120 12 90 50
TOO DKO8O 16 150 80 16 150 50 TOO DK12016 100 120 16 100 50
TOO DKO080 20 100 80 20 100 50 TOO DK12016 150 120 16 150 50
TOO DKO080 20 150 80 20 150 50 TOO DK12020100 120 20 100 50

TOO DK12020150 120 20 150 50



TA18 0615 18 ARMUT Mé6x15 50
TA210615 21 ARMUT Mé6x15 50
TA210815 21 ARMUT M8x15 50
TA211015 21 ARMUT M10x15 50
TA23 0820 23 ARMUT M8x20 50

| kop | DESCRIPTION

TA23 1020 23 ARMUT M10x20
TA26 1020 26 ARMUT M10x20
TA26 1220 26 ARMUT M12x20
TA28 1020 28 ARMUT M10x20
TA28 1220 28 ARMUT M12x20

“op | DESGRIPTION ||

TA18 06 18 ARMUT BURCLU M6
TA2106 21 ARMUT BURCLU Mé
TA2108 21 ARMUT BURCLU M8
TA2110 21 ARMUT BURCLU M10
TA2308 23 ARMUT BURGLU M8

“kop | DESCRIPTION -7

TSV100 30 100 KOLLU VOLANT 30mm
TSV125 40 125 KOLLU VOLANT 40mm
TSV150 50 150 KOLLU VOLANT 50mm
TSV17550 175 KOLLU VOLANT 50mm
TSV200 50 200 KOLLU VOLANT 50mm

50
50

10

“kop | DESCRIPTION ||

TA23 10
TA26 10
TA26 12
TA28 10
TA28 12

23 ARMUT BURCLU M10
26 ARMUT BURCLU M10
26 ARMUT BURCLU M12
28 ARMUT BURCLU M10
28 ARMUT BURCLU M12

50
50
50
50
50

“op | DESCRIPTION |

TDV100 24 100 KOLLU VOLANT 30mm 10
TDV125 32 125 KOLLU VOLANT 40mm 10
TDV150 32 150 KOLLU VOLANT 50mm 10
TDV175 40 175 KOLLU VOLANT 50mm 8
TDV200 40 200 KOLLU VOLANT 50mm 6




| kop | DESCRIPTION

TY20 0508
TY20 0610
TY30 0615
TY30 0820
TY40 0620
TY40 0820
TY40 1025
TY50 0825
TY50 1030
TY50 1235
TY63 0830
TY63 1030
TY63 1235
TY70 1030
TY70 1235

20 YILDIZ M5x8
20 YILDIZ Mé6x10
30 YILDIZ Mé6x15
30 YILDIZ M8x20
40 YILDIZ M6x20
40 YILDIZ M8x20
40 YILDIZ M10x30
50 YILDIZ M8x25
50 YILDIZ M10x30
50 YILDIZ M12x35
63 YILDIZ M8x30
63 YILDIZ M10x30
63 YILDIZ M12x35
63 YILDIZ M10x30

63 YILDIZ M12x35

"top | DESGRIPTION |-

TK25 05
TK25 06
TK25 08
TK30 06
TK30 08

25 KURE BURGLU M5
25 KURE BURGLU M6
25 KURE BURGLU M8
30 KURE BURGLU M6
30 KURE BURCLU M8

50

| kodb | DESCRIPTION

TYB20 05
TYB20 06
TYB30 06
TYB30 08
TYB40 06
TYB40 08
TYB40 10
TYB50 08
TYB50 10
TYB50 12
TYB63 08
TYB63 10
TYB63 12
TYB70 10
TYB70 12

20 YILDIZ BURCLU M5
20 YILDIZ BURGLU Mé
30 YILDIZ BURCLU Mé
30 YILDIZ BURGLU M8
40 YILDIZ BURGLU M6
40 YILDIZ BURCLU M8
40 YILDIZ BURCLU M10
50 YILDIZ BURCLU M8
50 YILDIZ BURGLU M10
50 YILDIZ BURGLU M12
63 YILDIZ BURGLU M8
63 YILDIZ BURGLU M10
63 YILDIZ BURGLU M12
70 YILDIZ BURGLU M10

70 YILDIZ BURGLU M12

" kop | DESCRIPTION | =

TK35 08
TK35 10
TK40 08
TK40 10
TK40 12

35 KURE BURGLU M8
35 KURE BURCLU M10
35 KURE BURCLU M8
40 KURE BURGLU M10
40 KURE BURGLU M12

50
50
50
50
50



“0 v4

| kob |  DESCRIPTION

| koD | DESCRIPTION

TTV4520 45 TIRNAKLI VOLANT 20mm 20 TT651250 65 TIRNAKLT M12x50 50
TTV6525 65 TIRNAKLT VOLANT 20mm 20 TT65 1260 65 TIRNAKLI M12x60 50
TTV80 30 80 TIRNAKLI VOLANT 20mm 20 TT80 1650 80 TIRNAKLT M16x50 50
TTV100 35 100 TIRNAKLT VOLANT 20mm 20 TT801660 80 TIRNAKLT M16x60 50

% @

m DESCRIPTION

m DESCRIPTION =

TTA45 08 45 TIRNAKLI ACIK VOLANT M8 50 TT4508 45 TIRNAKLI M8 50
TTA45 10 45 TIRNAKLI ACIK VOLANT M10 50 TT4510 45 TIRNAKLI MI10 50
TTA45 12 45 TIRNAKLI ACIK VOLANT M12 50 TT4512 45 TIRNAKLI M12 50
TTA65 10 65 TIRNAKLI ACIK VOLANT M10 50 TT6510 65 TIRNAKLI M10 50
TTA65 12 65 TIRNAKLI ACIK VOLANT M12 50 TT6512 65 TIRNAKLI M12 50

<@

m DESCRIPTION =

m DESCRIPTION

TTAB80 10 80 TIRNAKLI ACIK VOLANT M10 50 TT8010 80 TIRNAKLI M10 50
TTAB80 12 80 TIRNAKLI ACIK VOLANT M12 50 TT8012 80 TIRNAKLI M12 50
TTA80 14 80 TIRNAKLI ACIK VOLANT M14 50 TT8014 80 TIRNAKLI M14 50
TTA100 16100 TIRNAKLI ACIK VOLANT M16 50 TT100 16 100 TIRNAKLI M16 50

TTA100 20100 TIRNAKLT ACIK VOLANT M20 50 TT100 20 100 TIRNAKLI M20 50




ko | size ||

MTC63 0520
MTC63 0530
MTC63 0620
MTC63 0630
MTC63 0650
MTC63 0830
MTC63 0850
MTC63 1030
MTC63 1050
MTC78 0825
MTC78 0830
MTC78 0835
MTC78 0850
MTC78 1025
MTC78 1030
MTC78 1035
MTC78 1050
MTC78 1230
MTC78 1250
MTC92 1030
MTC92 1050
MTC92 1230
MTC92 1250
MTC111230

MTC11 1250

MTC11 1440

MTC11 1460

MTC11 1640

MTC11 1660

rop | size | =
M6 20

MTC63 06
MTC63 08
MTC63 10
MTC78 08
MTC78 10
MTC78 12
MTC92 10
MTC92 12
MTC92 14
MTC11 12
MTC11 14
MTC11 16

M5x20
M5x30
M6x20
M6x30
M6x50
M8x30
M8x50
M10x30
M10x50
M8x25
M8x30
M8x35
M8x50
M10x25
M10x30
M10x35
M10x50
M12x30
M12x50
M10x30
M10x50
M12x30
M12x50
M12x30
M12x50
M14x40
M14x60
M16x40
M16x60

M8
M10
M8
M10
M12
M10
M12
M14
M12
Mi14
M16

20
20
20
20
20
20
20
20
20
20
20

SWITCHBLADE ARMS

ko | size ||

MSC63 0520
MSC63 0530
MSC63 0620
MSC63 0630
MSC63 0650
MSC63 0830
MSC63 0850
MSC63 1030
MSC63 1050
MSC78 0825
MSC78 0830
MSC78 0835
MSC78 0850
MSC78 1025
MSC78 1030
MSC78 1035
MSC78 1050
MSC78 1230
MSC78 1250
MSC92 1030
MSC92 1050
MSC92 1230
MSC92 1250
MSC11 1230

MSC11 1250

MSC11 1440

MSC11 1460

MSC11 1640

MSC11 1660

MSC63 06
MSC63 08
MSC63 10
MSC78 08
MSC78 10
MSC78 12
MSC92 10
MSC92 12
MSC92 14
MsC11 12
MsCl1 14
MSC11 16

M5x20
M5x30
M6x20
M6x30
M6x50
M8x30
M8x50
M10x30
M10x50
M8x25
M8x30
M8x35
M8x50
M10x25
M10x30
M10x35
M10x50
M12x30
M12x50
M10x30
M10x50
M12x30
M12x50
M12x30
M12x50
M14x40
M14x60
M16x40
M16x60

Mé
M8
M10
M8
M10
M12
M10
M12
M14
M12
M14
M16

“rop | size | =




INDUSTRIAL 2023

FITTINGA&FURNITURE AC.

1-Steel Fitting Companent

2-Steel Furniture Accessories




o oo o y

6001 2x23x30x30
TG002 2x23x60 100 1000

--

TG005  2x20x30x30 100

TG006 2x20x60 100 1000 ; ,.f'r‘ﬂ ’
<

.

6009 2x25x50x50 100 1000

i

T6010 2x25x100 100 1000

TE013 2x15xx25x25 100 2000
T6014 2x15x50 100 2000

| ko | dEscrrPTION 7] 80X

T6017  2x15x45x45 100 1000
TE018  2x15x90 100 1000 &

™
| kop | bescrreTion | =7 B0X | ’
-
&
'l;\

T6021 2x15x65x65 100 1000
T6022  2x15x130 100 1000

-~
2
B
.

a
k=

o0 | oescurmion =) eox]

T6028  2x20x35x35 100 1000

T6029  2x20x70 100 1000 > -

T6032  2x20x55x55 100 1000
T6033  2x20x110 100 1000

B
| koo | vescereron | =) sox | J
a5

p

TE036  2x20x75x75 100 500
TE037  2x20x150 100 500 __,;;"?-'

STEEL FITTING COMPONENT
oo o

6003 2x17x30x30

T6004  2x17x60 100 1000 ,

o oo o y

2x25x35x35 100 1000 o
TG008  2x25%70 100 1000 R

| kov | vescererron | =7 sox |

TEO011 2x15x16x16 100 2000

T6012  2x15x33 100 2000 ’
2
| kob | bescrrpTIoN || Box | d
ﬂﬂ

P
e

T6015 2x15x35x35 100 2000
T6016 2x15x70 100 2000

| cob | descrrpTion | =7 8ox]|

TE019 2x15x55x55 100 1000
T6020  2x15x110 100 1000 = -

| kov | vescererron | =7 sox |

T6023  2x15x75x75 100 1000
T6024  2x15x150 100 1000

T6026  2x20x25x25 100 1000
T6027  2x20x50 100 2000

| koo | vescererron | =7 sox |

TG030  2x20x45x45 100 1000
TG031  2x20x90 100 1000 5

:
?ﬁ
o
\-ﬁl
s
v

T6034  2x20x65x65 100 1000
T6035  2x20x130 100 1000

P
=
>




—

KOD | DESCRIPTION |(—1J| BOX
TE038  2x20x85x85 100 500
T6039  2x20x170 100 500

\.

%

> \%

KOD | DESCRIPTION |~ 1| BOX

T6040  2x20x95x95 100 500
TE041  2x20x70x120 100 500
T6042  2x20x190 500 500

\

KOD | DESCRIPTION | 1| BOX

T6045 2x30x25x25 100 1000
T6046 2x30x50 100 1000

&\

4

KOD | DESCRIPTION |(—1J| BOX

TG049  2x30x45x45 100 1000
T6050  2x30x90 100 1000

| ko | dEscrrPTION |7 80X

TG053  15x40x40x40 100 1000
TG054  15x40x80 100 1000

KOD | DESCRIPTION |1/ | BOX

T6057  15x20x20x38 100 1000
T6058  15x20x20x80 100 1000

KOD | DESCRIPTION |~ 1| BOX

TG061 2x40x40x115 20 160
TG062  2xBHx40x40 B0 200

E S\ L XVAN &

| ko | dEscrrPTION |7 80X

T6065  2x40x90x90 25 100
T6066  2x40x60x120 25 100

-
&

i ‘?
T

| koo | vescererron | =) sox |

TG068  2x40x50x102 100 500
TG069  2x40x152 100 500

)
&

STEEL FITTING COMPONENT

KOD | DESCRIPTION || BOX
T6043  2x16x55x110 100 500
TG044  2x16x165 100 500

&

)
»"ﬁ
KOD | DESCRIPTION |~ 1| BOX j

TG047  2x30x35x35 100 1000
T6048  2x30x70 100 1000

| koo descurprion =7 80X |
100 1000

T6051 2x35x50x50
T6052 2x35x100 100 1000

| xop | descrrprioN =7 80X |

TE051  15x40x30x30 50 300
T6052  15x40x60 50 300

oo ocomurmon — co SRR S

T6055 15x40x38 100 1000
T6056 15x40x48 100 1000

KOD | DESCRIPTION |~ 1.| BOX

TG059  2x40x40x60 50 200
TE060  2x40x60x60 50 200

| koD | dEscRIPTION 7| 80X

T6063  2x40x50x50 100 500
T6064  2x40x100 100 500

KOD | DESCRIPTION |~ 1J| BOX H
T6067  2x40x120x120 50 200 !

| ko | bescrrpTIoN |7 80X

TG070  2x40x50 100 1000
T6071  2x40x50 100 1000




STEEL FITTING COMPONENT

| ko> bescrrpTIoN - 2
TG072  2x40x60x180 25 *-fm’_-/

T6073  2x55x80

25 100 k
o oo ’

TGO76 2x40x40x150 20
TGO77 2x80x150 20

TG080  2x40x40x200 25
TG081 2x80x200 25

o oo o J

N ,

T6084  2x40x40x240 25
T6085  2x80x240 25

IERETTE AT Q

TG088 2x40x48 25
T6089 2x40x60 25 100

IMH

TG092 2x40x180 25
TG093 2x40x240 25 100

m-

TG096  2x20x20x100 25
TE097  2x20x20x120 25 250

IEI-

T6100 2x50x40x60 50
TG101 2x50x60x60 50 200

m-

TG104  2x50x120x120 25
T6105 2x50x60x180 25 100

| kon | vescererron | =7 sox|

T6074  2x80x58x68 20 100
T6075  2x80x115 20 200

| ko descrrprion | =7 sox|

T6078  2x80x75x75 25 100
T6079  2x80x48x102 25 200

MmN

T6082  2x80x100x100 25 100
T6083  2x80x75x125 25 200

TE086  2x50x60x180 100 500
TG087  2x80x75x165 100 500

| kob | vescererron | =7 sox|

T6090 2x80x120x120 100 500
T6091  2x40x120 100 500

IEIH

T6094  2x20x20x48 50
T6095  2x20x20x60 50

m-

TG098  2x20x20x180 25
TE099  2x20x20x240 25

-

m-

T6102  2x50x90x90 25
T6103  2x50x60x120 25 100

m-

T6106  2x50x100
T6107  2x50x120 25 100




STEEL FITTING COMPONENT

KOD | DESCRIPTION |~ 7.| BOX

TG0 2x60x40x60 50 200
TGl 2x60x60x60 50 200

KOD | DESCRIPTION |~ 1J| BOX
T6108 2x50x180 20 100
T6109 2x50x240 20 200

| kop | bEscrrpTION l KOD | DESCRIPTION | ("7 BOX
o
100

T6112  2x60x90x90 25 "'5 T614  2x60x120x120 25 100
T6113  2x60x60x120 50 200 TEI5  2x60x60x180 25 100

KOD | DESCRIPTION |~—1J| BOX
TGU8  2x60x120 25 200
TG19  2x60x180 25 150

| koo | descrapTion | =7 80X
300

T61116 2x60x60 50
TG1117 2x60x100 25 200

KOD | DESCRIPTION |-7J| BOX
T6122  2x30x30x100 25 200
T6123  2x30x30x120 25 200

| koo | vescrerron | =7 sox |
100

TG120 2x60x240 50
T6121 2x30x30x60 50 300

| xob | descrrprion | =7 sox|

T6126  15x15x26x26 100 1000
T6127  1)5x15x52 100 1000

| kov | vescererron | =] sox |

T6124  2x30x30x180 25 100
T6125  2x30x30x240 25 100

KOD | DESCRIPTION |~ 1| BOX

6 T6130  3x25x50x50 50 300
% TGI31  3x25x100 50 200 /
F
J

| kon | vescererion | =] sox |

T6128  15x40x47x47 50 200
T6129  15x20x40x95 50 300

| koo vescrrprioN =7

T6132  3x25x75x75 50 200
T6133  3x25x150 50 200

KOD | DESCRIPTION |1/ | BOX
T6134  3x25x100x100 50 300
T6135  3x25%200 50 300 /

KOD | DESCRIPTION |(—1J| BOX
T6138  3x25x100x150 25 100

T6139  3x25x250 25 200 /

T

T

| o descrapTion | =7 8ox]|

T6136  3x25x50x100 50 200
T6137  3x25x100x400 25 100




| koo vescererron | =77 sox |

T6140  3x25x150x150 25 100
T6141 3x25x100x200 25 100
T6142  3x25x300 25 100

m-

T6145  3x25x200x200 25
T6146  3x25x400 25 200

I!!I-

T6149  3x25x150x300 25
T6150  3x25x200x250 25 100
TG151  3x25x450 25 200

| kon | vescererron | =) sox |

T6154  3x25x100x150 25 100
T6155  3x25x250 25 200

1o | pescumion (=1 1

T6158  15x43x47x47 50 200
T6159  2x60x120x120 20 80

| ko | dEscrrPTIoN (7 80X

T6162 2x60x120x120 8 24

m-

T6165  2x60x96x25x25x96

T6166  2x50x96x25x25x96 8 24

STEEL FITTING COMPONENT

]

)

| xov | vescererron | =7 sox| :

T6143  3x25x150x200 25 1000 /

T6144  3x25x350 25 2000

//

- 7

| o descraprion | =7 sox]|

T6147  3x25x150x250 25 100
T6148  3x25x100x300 25 100

m-

T6152 3x25x250x250 25
T6153  3x25x500 25

| kob | vescererron | =) sox |

T6156  3x25x200x300 25 100
T6157  3x25x150x350 25 200

I!!I-

T6160  2x40x60x100 20
T6161  2x40x60x100 8 24

m-

TG163  2x80x60x80 8
TG164  2x80x60x80 8 24

m-

T6166  2x100x60x70 8
T6167  2x100x60x70 8 24




FURNITURE ACCESSORIES

T6145 25mm ScrewCop 100 2500 - T6149 4Ho|esHangerFlwge 250 2500 g o

T6146  20mm Screw Cap 100 2500 T6150 2 Holes Hanger Flange 250 2500
TG147 15mm Screw Cap 100 4000
T6148  13mm ScrewCap 100 4000

KOD | DESCRIPTION |~ 1| BOX

Half Moon
T6153 e 250 2000

KOD | DESCRIPTION [~ BOX
TG151  Oval Hanger Flange 250 2000
T6152  Big Oval Hanger Flange 250 2000

KOD | DESCRIPTION || BOX DESCRIPTION || BOX o

T6154 Picture Hanger Horz. 250 1500 = f T6157 Hanger Flange 100 1000

T6155 Picture Hanger Vert, 250 1500 T6158 Hanger Flange-Screw 100 1000 0

T6156 Picture Hanger 250 1500 ﬁ

DESCRIPTION || BOX a DESCRIPTION | 1J| BOX &

T6159  Frame Hanger 250 2000 T6161 Picture Hanger Flat 250 2000
T6160  Frame Hanger Swaged 250 2000 é T6162  Picture Hanger Swaged 250 2000

KOD | DESCRIPTION |“7J| BOX A KoD DESCRIPTION
TG163  Aluminium Corner Con. 250 1000 = T6165 Plas. Dowel Bed Steel 1,2mm
e 4

TG164  Aluminium Frame Con. 250 1000 o 4 T6166 Single Bed Steel 1.2mm

KOD | DESCRIPTION [=1J| BOX

T6167 Table Fixture Flat 100 100
T6168 Table Fixture L 100 100

T6169 Plas. Dowel Bed Steel 1,5mm
TG170 Single Bed Steel 15mm

‘f, % DESCRIPTION

| kob | _pescRrPTIoN 80X

T6173 Tongued Connection Steel 500

| koD | bEscRIPTION =77/ 80X |

TG171  Table Fixture Hitch 100 100
T6172 Table Fixture Hitchless 100 100

T6174 Tongued Con. Steel Small 1000

.
-

&
P

&
e




,‘

| kb | pescrerron 7 sox|

T6175 Big Hanger Flat 100 1000
T6176 Big Hanger Swaged 100 1000

oo | oescrrmon | =) sox RIS
T6178 M8 Table Steel 250 1000 -
T6179 M6 Table Steel 250 1000

| o |_oescrrrrion =7 sox I g
TG183 Lock Against Flat 100 2000 p
TG184 Lock Against L 100 2000

| (oD | DESCRIPTION =77 80X

T6187 6mm Corner Connector 100 1000
T6188 8mm Corner Connector 100 1000

440

| kop | bEsRIPTION stze |7 |

TG191  Rack Fixture 3x150x150mm 30
T6192  Rack Fixture 3x200x200mm 30
TG193  Rack Fixture 3x250x250mm 30

White, Black, Copper, AYellow, A.Copper, Chrome

FURNITURE ACCESSORIES

| koo | pescererron =7 sox|

T6177 Flat Setsquare 50 300

ioo | oescawmion | e0x

TG180 Leg Moun. Steel M6 200 2000 .
T6181 Leg Moun. Steel M8 200 2000 (-
TG182 Leg Moun. Steel M10 200 2000

| kob | DbESCRIPTION BOX .

T6185 Vetro Leg Steel 70x70mm 300 >
TG186 Vetro Leg Steel 100x100mm 200

| kob | _bEscRIPTION =7 80X

T6189 10mm Corner Connector 100 1000
TG190 12mm Corner Connector 100 1000

| kob | oEscRIPTION| size [T
T6194  Table Fixture  15x50cm 14
T6195 Table Fixture  15x45cm 14
TG196 Table Fixture  15x35cm 12

White, Black, Galvanized




I INAT AdWare

iskenderpasa Mah. Orta Cesme Cikmazi Sk. Cagdas Apt. No.: 1/4 Fatih - istanbul / Turkiye
+90 532 685 6686 contact@sedexport.com




